Décomposition des nombres 3

Exemple:10+10+10+10+2 =42
10+10+10+10+10+10+10+9 = .oieieieiieeeeeeeens
10+10+10+2 = i
10+10+10+ 10+ 0= ciroiieiieeee e

10+10+10+10+0 =i,
10+10+10+10+10+10+ 10+ 1= vereieiereeeereeeenes
10+10+2 = i,
10+10+10+10+10+10+10+10+10+ 8 = ...............

Moaitresse Cactus

Décomposition des nombres 3

Exemple:10+10+10+10+2 =42
10+10+10+10+104+10+104+9 = coeeeieieeeeeeeeeenneens
10+ 10+104+ 2= e

10+10+10+10+10+10+10+10+10+7 = eeeuevuevuennns
10+10+10+10+10+10+104+10+3 = iveueeeenreenennnn,

10+10+4 =i,
10+10+10+10+10+5 =i,
10+10+10+10+10+10+3 = .roiiiiiiiceiee e,
10+10+10+10+0 = ccerrrriiirereeee e,
10+10+10+10+10+10+10+1=vreervrreeerreeeenee,
10+10+2 = e
10+10+10+10+10+10+10+10+ 10+ 8 =...............

Maitresse Cactus




